TeensyStep Calculations

Basic Formulas
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Intersection of acceleration and deceleration

1 (v.—v s
Suee (us,ue,a,As) = = 5 1L As curves. Must be within s_s and s_e to generate
2\ 2a a valid movement
Vi—Vs
sacc<ysvljt7a> = 2a

sdec<ysayevytaaaAS> ::2'ssec<ysvl/evavAs>_Sacc<ysaytaa>

Example
a:=50000 s,:=0 5,:=20000 As:=s,—s,=2-10"
v,:=500 v, :=15000 v, :=10000

Sace *= Sace <Us2 ,’Ut2 ,a> =2248 Sdec = Sdec <’052 ,’l)e2 ,’Ut2 ,a, A3> =18750
Ssec *= Ssec <v32 5 Ue2 ,a, AS) =10499
Vace (8) = <8 ’ ’1)32 @, O) Vdec (8) =V <_s ) Uez ,a, —AS) Vyi= ’I)t2

The following graph shows the squared motor speed depending on the position s and
the transition points from acceleration to constant to deceleration.
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